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I FRmMERBSHLEHSYRE N TRk P4mE ?
A AAERHFH (onhand )
B. AERGF4®
C. #WHa%E (inventory turn)
D ¥—1R&shWEE

2. HEGEEWHAMAME LA e & 831 8] (capacity planning ) & F #4747
A. #% & 4+t %] ( rough-cut capacity planning )
B. #:#ME (resource planning)
C. Z# & L+ 8 (capacity requirements planning )
D. /& K44 (input/output control )

3 B4 AHE —BAME (bottleneck work center) Z ATe9 4 A4 ¥ B4
s el ?
A FEHREFALE - CHARSTHFZE
B. RAs#|Mmuerds S EnE
C BEBETE ST SELRALE
D. BixBRALMsS 4 & B oA

4. BET LS (CRP) HiRE KAL) (MRP) &2 Moy WA RS L TR L ?
A. 4 &+t ¥ (production plan) F 4 & #t#2 (MPS)
B. ## & Fet§) (MRP) #v & 853+ %) (sales and operation plan )
C. #& /& di## (inputioutput control) #o & £ & £+t #] (CRP)
D. #& T ¥ (dispatch list) #Fodh# & £+ 4

5. S ETE (firm planned order ) #9zhsE A B F 54T 7
DB T LitE (MRP) Astama kol
i) At (freezing) ¥ — #3769 054 (timing)
) FANHEITRAMFTURERERE e §& (lot sizing )
W)L EAR (lowlevels) BEEEEHEN

Al
B. ii#viii
C.oivii#oiii

[P REERTIEETE L

6. FHRMEFRAHHE RIS (MRP) Asssd (output) 7
A, wxT ¥ (dispatch list)
B. # HiTHE (released orders)

C. ¥TH¥ &3k# ( rescheduled orders )
D. BE#TE (cancel orders )

7. wRF-—EITRTFEAREFRI0E BHMHRALIME AL 60@EETFH
S T
A. %% £ (netrequirement )
B. £ % £ ( gross requirement )
C. T H 7% (available inventory )
D. & t7 ¥ g (reorder point)

8. X dHE-—fGWARAE #ERAEOQ#Y - ALY E T L E5 10000 Hips &
BABSI0: RAFAEEERALATS REALAAH AR SR AY 10% &
EFMEs+EFR (BR—FH250BIAR) - LoIJHERBRAS V7

(@ mAan msies) F P53
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a = [ I i F e A -
ﬂ*¢£%£}ﬁﬂ?§§ NEIR/mER L AARI ﬁ}ﬂ_ﬁﬁ+ﬂ
- ) £ 2

A 200

B. 300

C. 400

D. 500

9. THRMEHAR  ATET S MRP &) & s d1 8, 7
A £BOMLEAEZSEH§
B. & BOM + B M fi- ¥
C. 7 BOM T & M Bl & t7 ¥ #1 °i
D, s bwi

10 FHl4g B4 TOC £12 B84
A FHA Hewn
B, kst THRFEAFTH ) TR
C. Bkt — s T Ul B4 F
D, ¥y E

(8%) Assume that 50 units of an item are produced at a cumulative average cost
of $20 per unit. Suppose that we want to compute the learning percentage when
100 units are produced at a cumulative average cost of $15 per unit. What is the
learning rate? (Hint: Wright formula 4, = C;x* where 4, = cumulative average
cost of producing x unit, C; = cost of the first unit, b = the learning curve
exponent)

Z. B%) XL HA - BHEBZELALEHET  AHAMMY - GidEe4E
REFHT T4 BT ETHEL 0 BEE A 10 BILL IR
FAREITE 999 - AR ITHE - (Hint £ £

™. (12%) Given the following data, apply the DCA (Direct Clustering Algorithm)
technique to determine what machine should be grouped together as one or more
cells.
Part number
1 2 3 4 5 6 7 g
1 1 l
2 1 1 i 1
3 1 1 1
Machine number 4 1
3 1 ]
6 I 1 1
7 1 1
#. (12%) Weekly sales of pizzas at Hot Pizza are shown following:
Week Demand (3) Week Demand (§) Week Demand (§)
1 108 5 96 9 112
2 116 i) 119 10 102
3 118 7 96 11 92
4 124 8 102 12 91
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Estimate demand for the next four weeks using a four-week moving average as

well as simple exponential smoothing with o =0.1. Evaluate the MAD, MAPE,
MSE in each case. Which of the two methods would you prefer?

o

(8%) Weekly demand for product Palm is normally distributed with a mean of

. 2,500 and a standard deviation of 500. The replenishment lead-time is two
weeks, Assume that the demand is independent from one week to the next.
Evaluate the service level from a policy of ordering 10,000 Palms when there
are 6,000 Palms in inventory. (Hint: 4 R Ht&E &)

+. (14%) Consider the following distribution system:

Single product

Two plants, referred to as plant pl1 and p2.

Plant p2 has an annual capacity of 60,000 units.

The two plants have the same production costs.

Two existing warehouses, referred to as warehouse wl and warehouse w2,
have identical warehouse handling costs.

Three market areas, 1, ¢2, and ¢3, with demands of 50,000, 100,000 and
50,000, respectively.

3 Distribution cost per unit is as follows. For instance, distributing one unit from
plant p1 to warehouse w2 cost $5.

CooDoOoao

o

pl p2 cl €2 c3
wl 0 4 3 4 5
w2 3 2 2 1 2

Our objective is to find a distribution strategy that specifies the flow of
products from the suppliers through the warehouses to the market areas
without violating the plant p2 capacity constraint, that satisfies market area
demands, and that minimizes total distribution costs. Formulate the problem
by mathematical programming method to find its optimal solution. You do not
need to solve the numerical results.

. (8%) Explain how two-card kanban works in a typical JIT literature. You should
provide a conceptual scherna to illustrate your idea.

(a4 8, Fadng)
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TABLE 4 Moo Curve Arexs
z F .00 0.0l (13123 .03 .04 0.05 0.06 0.07 0,08 n_n;_

00 | 0.0000 0.0040  0.0080 00120 0060 0019¢ G039 0.027¢ 00319 00359
01 | D039 00438 0.0478 DO517 00557 0059 0.0636 00675 DOTI4 .07
02 | 00793 00832 008N GO9I0 00948 00987 0.1026 01064 01103 0.114]
03 | 01179 01217 0.1255 01293 01331 01368  0.1406 0.5443 01480  0.1517
D4 | 01554 01591 01628 (L1664 0.1700 01736 01772 01808  0.1844 0.1879
0.5 | 01915 01950 01985 02019 0.2054 02088 02123 02157 02190 02224

0.6 | 02257 02291 02324 02357 0.2389 02422 (0.2454 02486 02517 0.2549
0.7 | 0.2580 02611 D2642 0.2673 02704 0273  0276&  0.2794 02823 02852
0.8 | 02881 02910 02939  0.2967 0.2995 03023 03051 03078 03106 03133
0.9 | 03159 03186 03212 03238 03264 03289 03315 03340 03368 3389
LO | 03413 03438 03461  (0.3485 0.3508 03531 03554 03577 03599 0.3621

L1 03643 03665 03686 03708 03729 03749 03770 03790 03810 0.3830
1.2 | 03840 (03869 03888 (3907 0.3925 0354 03962 03980 03997 04015
13 04032 04049 04066 0.4082 04099 04115 04131 04147 04162 04177
14 | 04192 04207 04222 04236 04251 04265 04279 04202 0.4306 04319
1.5 | 04332 04345 (04357 04370 04382 04394 04406 04418 0.4425  (r444)

Lo | 04452 04463 04474 04484  (.440% 04505 04515 04525 04535 04545
L7 1 04554 04564 04573 04582  0.450] 0.4509 04608 04616 04625 04633
LE | 04641 04645 04656 04664 04671 04678 04686 04693  0.4699 0.4706
1.9 1 04713 04719 04726 04732 04738 04744 04750 04756 04761 04767
20 | 04772 04778 04783 04788  0.4793 04798 04803 (4808 04812 04817

21 7 04821 04826 04830 04834 04838 04842 0.4846  0.4850 0.4854 04857
12 | DAE6L  D4864  [4REE (487 04875 04878 04881  (.4884 04887  D.4800
23 | O4B93 (4896  (4R98  (.490] 04504 04006 04909 04911  [.4913 1.4915
24 04918 04920 04922 (4925 04927 04929 04931  0.4932 (4934 0.4936
2.5 | 04838 04940 04941  Daogy 04945 04946 04048 (4940 0.4951 04552

26 | 04953 04955 04056  (0.4057 04955 04960 04961  0.4962 04963 (04954
27 | D495 04066 04967 04968 0.4969 04970 04971 04972 0497 i 04974
B | 04974 04975 04976 04977 04977 04978 04079 (4979 04980  D.408]
215 | 04981 04982  D4982 (4083 04984 04984 04985  (.498S 045986  (.4088
30 | 04987 04987 04987  0.498% 04988 040980 (04089 04989  (.4900 0.4950

Saurce: Abridged from Table T of A Hald. Sratissica) Tables and Farmulax {New Yoek: John Wikey & Sors, Ine.), 1952, Reprodoced by permissson
of A Hald and the publisher.




